
Component 4/Unit 6 – Databases 

Quiz Questions
Note:  not all questions are required to demonstrate understanding – quiz can be shortened by selecting fewer questions representing each Objective

1. Which of the following is NOT an advantage that a database has over other forms of storage?

a. It is able to store repetitive data.

b. Only key data is repetitively stored.
c. Security is enhanced.

d. Conflicting data occurs less often.

2. A deletion anomaly happens when . . . 
a. Data is deleted from one entity and placed in another entity.

b. One kind of data is unintentionally deleted along with the data that was intended to be deleted.

c. An entire table is deleted instead of a row of data.

d. A new entity replaces an old entity.

3. Which of the following is an advantage of databases over disk file storage?

a. Databases can store data of a repetitive nature and disk file storage cannot.

b. Disk file storage requires special expensive hardware and databases do not.
c. Data from a database can be input selectively rather than all or nothing as with a disk file.

d. Data in a database is not visible all the time as with a disk file.

4. The purposes of a database include all of the following EXCEPT . . . 

a. Acquire data.

b. Provide internal security.

c. Retrieve data on command.

d. Data is never repeated.

5. A tuple is a synonym in database terminology for which of the following? 

a. Row

b. File

c. Column

d. Attribute

6. An attribute is a synonym in database terminology for which of the following?

a. Table

b. Column

c. Record

d. Row

7. What is the name of the problem that is solved by creating a new entity and moving some data from the existing entity to the new one so that when data is removed from the original entity, data is not unintentionally lost?
a. Insertion anomaly.

b. Update anomaly.

c. Deletion anomaly.

d. Addition anomaly.

8. What database term involves connecting two or more tables together when a user needs data from more than one table in the database?

a. Sweeping

b. Conduit

c. Concatenation

d. Relationship

9. A surrogate key is most similar to which of the following?

a. Natural key

b. Foreign key

c. Candidate key

d. Door key

10. A surrogate key is . . . 

a. A well-known attribute value that uniquely determines a row in a table.
b. An automatically generated numeric value that uniquely determines a row of a table.

c. A unique key from another table.

d. A key that not the primary key.

Correct Answer: B

Objective: B
11. A natural key is . . .

a. A well-known attribute value that uniquely determines a row in a table.

b. An automatically generated numeric value that uniquely determines a row of a table.

c. A unique key from another table.

d. A key that not the primary key.

12. A foreign key is . . .

a. A well-known attribute value that uniquely determines a row in a table.

b. An automatically generated numeric value that uniquely determines a row of a table.

c. A unique key from another table.

d. A key that doesn’t belong in the table where it appears.

13. A candidate key is . . . 

a. A well-known attribute value that uniquely determines a row in a table.

b. An automatically generated numeric value that uniquely determines a row of a table.

c. A unique key from another table.

d. A key that doesn’t belong in the table where it appears.

14. What language is used to store and retrieve data from a database?
a. UML

b. DDLC
c. DBMS
d. SQL

15. The most important source of specifications for database development is obtained from which of the following?

a. Forms and reports

b. Existing files

c. Users

d. Customers

16. Which part of the database ER-diagram becomes a table in the implemented database?
a. Relationships 

b. Entities

c. Attributes

d. Primary keys

17. Primary keys can be selected from a list of . . . 

a. Natural keys

b. Surrogate keys

c. Candidate keys

d. Foreign keys

18. Relationships in the database are carried out with the use of which of the following?

a. Primary key to foreign key matches.

b. Surrogate key to natural key matches.

c. Foreign key to foreign key matches.

d. Primary key to primary key matches.
19. The data model is best described as which of the following?

a. The database design.

b. A volatile diagram that though specification gathering and normalization processes eventually matures into the database design.

c. A fixed model from which the database is implemented.

d. A diagram that represents only one view of the database.
20. Testing of the database can be accomplished by which of the following?
a. Create small databases for each view that was gathered during the specification gathering phase and make sure they all produce what the user or report needed.

b. Have the users do every transaction by hand for a few days in parallel with the new database to see if the results are the same.

c. Create a small test version of the database where queries can be executed and the results monitored.

d. Testing is not important since users will have been involved throughout the entire process.

21. Entities in the ER-diagram are object classes in that they are the _____ of something that the user needs to keep track of.

a. The actual data values
b. Instance 

c. Actual occurrence

d. Idea

22. Attributes must depend on the ____of the entity to which they belong. 

a. Primary key 

b. Foreign key

c. Relationship

d. Domain
23. Attributes that contain more than one piece of data such as Address are called . . . 

a. Multi-valued

b. Composite

c. An unbound domain 

d. Unspecific

24. Attributes that functionally determine other attributes are called . . .

a. Non-unique identifiers

b. Multi-valued identifiers

c. Identifiers

d. Unique identifiers

25. Attributes that contain data that repeats are called which of the following?
a. Composite

b. A repeating domain

c. Identifiers

d. Multi-valued

26. Primary keys are most efficient for data retrieval when they are which of the following?

a. Short and numeric

b. Shared primary keys

c. Composite

d. Multi-valued

27. It is best if primary keys . . .

a. Are composite

b. Do not change in value

c. Can be used for all tables in the database

d. Are shared

28. Natural keys have the advantage over surrogate keys of which of the following?
a. They are short and almost always numeric.

b. They introduce a transitive dependency.

c. They are more likely to be known to the user or to the patient/customer.

d. Their value is automatic and do not require data entry.

29. An example of a one-to-one relationship is which of the following?

a. Patient to Doctor

b. Nurse to work shift

c. Drug to pharmaceutical company

d. Patient to Hospital wrist band ID
30. An example of a one-to-many relationship is which of the following?

a. Insured to dependents

b. Patient to Hospital wrist band ID

c. Patient to Insurance Co

d. Hospital medical procedure to patient

31. An example of a many-to-many relationship is which of the following?

a. Patient to hospital wrist band ID

b. Hospital medical procedure to patient

c. Insured to dependents

d. Toxicology report to Patient 
32. In a recursive relationship an entity has a relationship with which of the following? 

a. another entity

b. a domain of an attribute

c. itself

d. multiple relationships with another entity
33. In a super to subtype relationship attributes of the super type are which of the following?

a. incompatible with the subtypes

b. mirror images of the subtypes

c. have identical attributes to the attributes of the subtypes

d. inherited by the subtypes

34. A name of a relationship is used for what purpose?

a. clarify the relationship

b. is used in programs that access the database.

c. becomes code that implements the relationship in the database.

d. indicate minimum and maximum cardinality of the relationship.

35. SQL cannot do which of the following?
a. Update the contents of a database

b. Identify the user of the system
c. Query a database for information
d. Execute intrinsic functions 

36. SQL commonly produces or projects which of the following?

a. one logical record

b. users of the system

c. record sets

d. one attribute

37. The first phase in database development is which of the following?

a. data modeling

b. testing

c. deployment

d. specification gathering

38. Which of the following is involved in data modeling?

a. ER-diagram

b. SQL
c. Implementing the database

d. Maintaining the database

39. The Referential Integrity Constraint is which of the following?

a. making sure that data is within the domain of the attribute

b. making sure that a foreign key value is also a value in the primary key to which it belongs

c. making sure that the user has permission to access data that they have requested

d. making sure that the user is who they say they are

40. An attribute is said to be functionally dependent on another attribute if . . . 

a. both attributes can be determined by another attribute

b. the attribute can be determined by the other attribute

c. both attributes are candidate keys

d. both attributes are non-unique keys

41. Constraints are which of the following?

a. ways of making sure that attributes are related.

b. making sure that attributes can be considered candidate keys

c. making sure that attribute values follow rules

d. limiting user access to the database 

42. First normal form of the Normalization process involves which of the following?

a. making sure that data within a row when deleted will not eliminate data that will be needed later.

b. Making sure that attributes are dependent on the entire primary key and not just part of a composite primary key.

c. when a row is inserted into a table, making sure that certain data doesn’t disallow the addition because it is not present.
d. Columns of data are uniquely named and contain only one piece of data.

43. Second normal form of the Normalization process involves which of the following?

a. making sure that data within a row when deleted will not eliminate data that will be needed later.

b. Columns of data are uniquely named and contain only one piece of data.

c. Eliminating transitive dependencies

d. Making sure that every determinant is a candidate key

44. Which normal form is commonly considered to be all that is necessary for most database situations?

a. Second normal form

b. Third normal form

c. Boyce-Codd form

d. Fourth normal form

45. In the final design which element of the ER-diagram becomes a table?

a. attribute

b. relationship

c. entity

d. domain

46. In the final design which element of the ER-diagram a name for a piece of data in the database?
a. attribute

b. relationship

c. entity

d. domain

47. SQL is used to create tables (True or False).

a. TRUE

b. FALSE

48. SQL is used to create a database (True or False).

a. TRUE

b. FALSE

49. SQL is used to create relationships (True or False).

a. TRUE

b. FALSE

50. In a one-to-many mapping relationship, the relationship is created by just identifying the primary key of a table and placing it in another table as a non-unique attribute (true or false).
a. TRUE

b. FALSE

51. The SQL statement used to retrieve data from a database is which of the following?

a. UPDATE

b. SELECT

c. INSERT

d. WHERE

52. “Order By” is which of the following?

a. type of statement

b. function

c. clause

d. transaction processing statement

53. “Count” is which of the following?

a. type of statement

b. function

c. clause

d. transaction processing statement

54. The term used for the process of getting data out of more than one table is which of the following?

a. Group By

b. And or Or

c. Distinct

d. Join

55. Which of the following best describes a subquery?
a. The projection of one query is passed as input to another query.

b. The values in one table are combined with the values in another table.

c. All of the data from one table is projected.

d. None of the data from any tables are projected.

56. In transaction processing changes to the database can be retracted before the end of the transaction is reached (true or false).

a. TRUE

b. FALSE
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